
OBS Correlation = −0.79
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CanESM5
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CanESM5−CanOE

● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ●
●

●
● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ●

● ● ●
● ● ● ● ● ●

● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ●
● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ●

● ●
● ● ● ● ●

● ● ● ● ● ● ● ● ●
● ● ● ● ● ● ● ● ● ● ●

● ● ●

●
●

●
● ● ● ● ● ● ● ● ● ●

● ● ●

● ●
● ● ● ● ● ● ● ●

●

● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ●
● ● ●

● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ● ●

−34
−17
0
17
34

−2
−1

0
1
2

−1
−0.5

0
0.5

1

GFDL−CM4
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GFDL−ESM4
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MIROC−ES2L
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MRI−ESM2−0
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CESM2−WACCM
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CNRM−ESM2−1
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IPSL−CM6A−LR
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